725D AND 725DA DISPENSE VALVE
TECH SUPPORT GUIDE

I Tools required

T 1/8" hex wrench
~— 1/4" flat-tip screwdriver

3/8" open-end wrench

8" adjustable wrench (2 required)

™

1/8 NPT threaded rod part #7021079

Nordson

EFD

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
Sales and service of Nordson EFD dispensing systems are available worldwide.




Valve Disassembly

1. Turn the stroke adjustment collar to the
maximum position.

2. Install the 1/8 NPT rod in the fluid body
mounting hole or fluid inlet.

3. Holding the rod, use an 8" adjustable
wrench to remove the fluid body cap.

4. Using the flat tip screwdriver, remove the
sealing head and screw.

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
2 Sales and service of Nordson EFD dispensing systems are available worldwide.



5. Holding the rod, use one of the 8"
adjustable wrenches to loosen the
fluid body.

6. Remove the fluid body from the air
cylinder.

NOTE

At this point, the fluid end of the valve can
be thoroughly cleaned without further
disassembly.

For diaphragm replacement or complete
valve rebuild, proceed to Step 7.

7. Insert the 1/8" hex wrench through the
air inlet fitting, loosen the shaft locking
screw, and turn it out two full turns.

8. Using the 3/8" open-end wrench,
loosen the shaft.

9. Remove the shaft and diaphragm.

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
Sales and service of Nordson EFD dispensing systems are available worldwide. 3



10. Place one 8" adjustable wrench on the
air cylinder flats and the other 8"
adjustable wrench on the cylinder cap
flats, and loosen the cylinder cap.

11. Remove the cylinder cap, piston and
spring from the air cylinder.

The valve is now completely
disassembled, and is ready for cleaning,
inspection and reassembly.

CAUTI ON

The adjustable air cylinder on the 725DA valve
is not serviceable in the field. Do not attempt
further disassembly. Do not turn the stroke
adjustment collar.

Valve Maintenance and Reassembly

For best results, install all replacement parts included in the repair kit.

1. Clean and inspect all parts

e Clean all parts with a solvent that is G
compatible with the fluid being dispensed.

e Inspect all threads.

¢ Inspect piston pins for straightness.

¢ Inspect fluid body seat area for pitting.
e Replace all worn or damaged parts.

e Complete parts lists appear on the last
page of these instructions.

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
4 Sales and service of Nordson EFD dispensing systems are available worldwide.




2. Using the lubricant supplied in the
repair kit, apply a film of lubricant to

the points indicated.
&55 H

o

3. Assemble the air cylinder cap, piston
and spring.

4. Install the air cylinder cap, piston and
spring by pushing to compress the
spring while turning to engage the
threads.

5. Using the two 8" adjustable wrenches,
tighten the air cylinder cap. If a torque
wrench is available, torque to 10.8 Nm
(8 ft Ibs).

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
Sales and service of Nordson EFD dispensing systems are available worldwide. 5



6. Install the shaft and diaphragm.

¢ The convex ring of the diaphragm should
face away from the air cylinder.

7. Using the 3/8" open-end wrench,
tighten the shaft. If a torque wrench is
available, torque to 1.69 Nm (15 in Ibs).

8. Insert the 1/8" hex wrench through the
air inlet fitting and tighten the shaft
locking screw. If a torque wrench is
available, torque to 2.82 Nm (25 in Ibs).

9. Install the fluid body and tighten using
the 1/8 NPT rod and 8" adjustable
wrench. If a torque wrench is
available, torque to 6.78 Nm (5 ft Ibs).

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
6 Sales and service of Nordson EFD dispensing systems are available worldwide.



10. Install the sealing head and screw
using the 1/4" flat tip screwdriver. If a
torque screwdriver is available, proper
torque is 1.69 nm (15 in Ibs).

11. Install and tighten the fluid body cap
using the 1/8 NPT rod and 8"
adjustable wrench. Remove the 1/8
NPT rod.

The valve is now fully assembled and
ready for testing.

12. Pressure test the valve

e Pressure test the valve by applying 100 psi
(7.0 bar) air pressure to the fluid inlet.

e Apply soapy water and check for leaks
at the fluid outlet and the small vent hole
above the diaphragm.

If you have followed all of the above steps and the valve has passed the leak test:

Congratul ations on a job well done! You have successfully reconditioned your EFD
725 or 725DA dispense valve and can look forward to many millions of consistent dispensing
cycles.

If the valve leaks after reassembly, proceed as follows:

Leaking at fluid outl et: Check the tightness of the sealing head
screw. If the screw is tight, remove and check the surface of the fluid
chamber seat for pitting. If pitted, replace the fluid body.

Leaki ng at vent hol e: Disassemble the valve and review Steps 7 —
9 to make sure the shaft and fluid body are tight.

info@nordsonefd.com USA & Canada 800-556-3484 Europe +44 (0) 1582 666334 India+ 91 80 4021 3600 Asia +China: +86 (21) 3866 9006
Sales and service of Nordson EFD dispensing systems are available worldwide. 7



Maintenance and Replacement Parts

g¢pum fiting #7016935 g«pusmn fitting #7016934 For Nordson EFD LLC sales and service in over
Air cylinder cap includes Air cylinder cap, includes 30 countries, contact Nordson EFD or go to
O-ring (Buna N) O-ring (Buna N) d fd
#7020910 —w= . O-ring only #7020910 —wm- ' O-ring only www.norasonerd.com
#7020912 #7020912
Shatt ook Shaft locking screw —me— East Providence, Rl USA
haitlocking scrow —m- #7020916 USA & Canada: 800-556-3484;
. +1-401-431-7000
- —— Qriing orly info@nordsonefd.com
o Oingonly A oy e www.nordsonefd.com
Air piston, includes #7014738 #7020917
O-ring#%uz%z yg* Dunstable, Bedfordshire, UK
i e 0800 585733; +44 (0) 1582 666334
Ireland 00800 8272 9444

Spring #7014740 ——w-- europe@nordsonefd.com

www.nordsonefd.com

Nordson India Private Limited
Air cylinder body — - +91 80 4021 3600
. #7020924
Spring #7014740 — e Mobile: +91 98450 48481
Wrench flats 7<E] india@nordsonefd.com
R Diachrac #7020625 China: +86 (21) 3866 9006
assembly #7020074 P china@nordsonefd.com
Shaft #7020920—w=— www.nordsonefd.com
Fluid inlet fiting Singapore: +65 6796 9522
#7021499

sin-mal@nordsonefd.com

The Wave Design is a trademark of Nordson Corporation.

Wrench flats 7—E]

Shoulder "A" —f— .
. ©2013 Nordson Corporation v080213
. Fluid body — e
Diaphragm #7020925 —e =——=o #7020932 (stainless steel) ©
#7020932 (hard-coated aluminum)
Shaft #7020929 ——w— Fluid inlet fitting
#7021499
* Sealing head with screw —==
#7020937
O-ring only
Shoulder "A" — Body cap includes — e #7020944
. O-ring (Viton)
;;‘gg&%y — @ #7020950 (aluminum)
(stainless steel) #7020952 (stainless steel)
#7020967 )
(hard-coated aluminum) Tip adapter ——m
#7016948
—=— Sealing head
with screw #7020961 725
Body cap includes —==— O-ring only
O-ring (Viton) —e #7020944

#7020950 (aluminum)
#7020952 (stainless steel)

Tip adapter ——we—
#7016948

725DA

Repair Kits

725D repair kit — part #7021008

725DA repair kit — part #7021013

(Repair kits include O-rings, diaphragm, sealing head
with screw, and lubricant)

725DA-RK (shown) contains white 200 sealing head Nordson
725D-RK (not shown) contains yellow 450 sealing head EFD




